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DESIGN FOR CONCENTRATED AND PARTITION LOADS

I. Influence of Concentrated and Partition Loads on Slabs.
' A. Perform Basic Slab Design Using Noru_inal Estimated Loads:
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B. Check the Effect of a 2000# Load on a 2 1/2 foot square Area

1. Assumptions and Keys:

a. If the 2000# load causes no greater effect than
the live load, it is acceptable.

b. Key #1: Find the width of slab that participates
in carrying the 2 1/2 foot square area; it is
usually wider than 2 1/2 feet.

c. Key #2: Equate the moments found for fixed
ends under the special loading to those found
with ACI Coefficients under pattern loading.

2. Equivalent Slab Width: (See Chart on Following Page)
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Influence of total width on effective width of reinforced
concrete slabs. (Where tatal width is less than twice
the gpam.)

Effective width as determined by the formula @:4/3x + d

shall be used whenever this is smaller than that obtained
from the curves abave,
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Check Effect of Partitions Pa
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a. Compute partition Weight

2402~ o P9 | crLeARLY MOT

(372 « %)25) ? miTicAd-

Deslah Ok FEv Qoo Lobp O\ 2h BT 5@, AL

rallel and Eerpendicular to Span
('() Corv ft“’“&‘:“ 'J{'v\ -Lor"() f‘,/‘v"‘“ﬂ/\ ,&n,{_

.
.

(1). Constructioni Say steel stud with gypsum plaster *

USE 12 psf ov

(2). Height: If sound
from top of £
glab: 12'=9%

er partition area.

isolation required: assume
inish floor to underside of
- 3" £ill - 4" slab = 12.17'

(3). W = \Lpep ¢ 1211 = 1460 Fx |4 = 2044 PLF
PAET i 0%%-F |

o what ey

p. Find Effective glab Widt
(1). This is uniform 1

(2). e = 4/3(5') + .33

USE e = 51§:

c. Check to verify that par
apart than &:
Assume minimum par

d. Find The partition Load

e o 2054t
W | B 5

-
-

h
oad case as represented on p. 3.

v > .55(10")

titions are spaced farther

tition spacing here = 8!’

on a 1 foot wide strip of slab:

o213

o = o315~ qF = 330"



7'7 Se.

f.

N

PARTITIONS=-=5

Find =M and +M Due to Loads Assuming Fixed Ends and
Clearspan:
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Find Uniform A Loads (which, if spread over the full

span of a 1 ft. wide strip of slab, would cause moments

equal to the above).
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2. Effect of Partitions Perpendicular to Slab Span H Beam

a.
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Partition weight = .205 k1f
Effective Slab Width = 1 foot

Check to verify that partitions are spaced farther than
the slab span:

Assume partition spacing here = 10 feet
Partition load on a 1 foot wide strip of slab = 205#

Find -M and +M Due to Loads Assuming Fixed Ends and
Clearspan:

M = PL = 205#(9') = 230.6#ft
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f. Find Uniform Partition Loads (which, if spread over the
full span of a 1 ft. wide strip of slab, would cause
moments equal to the abov@. ‘
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Short=-form Multiplier Chart for Effects of Partition Loads
on Slabs,

1. Key Assumptions: Yn approximately = 11

Other assumptions as on p. 2.

2. Variables: weight (psf) of partition over its surfaca area
height of partition = h = J%F
clearspan of supporting slab - In
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